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Figure 1.3.12 Sample
of realizations Y (w). ... » Y100,000 (w).

paths of the process S, for different n and the same sequence
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1.2. STOCHASTIC PROCESSES =

10

S&p

0 2000 4000 6000
t

Figure 1.2.2 ‘The (scaled) daily values of the S&P indez over g period of T,42;
days:.-The graph suggests that we consider the S&P time series as the sample patt
of a continuous-time process. If there are many values in a time series such that the
instants of time t € T are “dense” in an interval, then one may want to interpret this
discrete-time process as a continuous-time process. The sample paths of a real-life
continuous-time process are always reported at discrete instants of time. Depending
on the situation, one has to make g decision which model (discrete- or continuous-

- time). is more appropriate. T




